M=z =

FEANBERERREASE
1458 ERE
B #E¥T
KERAEH | LERAEK igggii; 99

0 0 0

366, 000 366, 000 0
3, 000, 000 3, 500, 000 (500, 000)

0 0. 0

0 0 0

0 0 0

WABE 3, 366, 000 3, 866, 000 (500, 000)

A

Rk g 2,688, 000 3,184, 000 (4986, 000)
BB d R e A RS 160, 000 160, 000 0

BB SRR 100, 000 100, 000 0
EEe & A 20, 000 20, 000 0
TEEA 398, 000 402, 000 (4,000)
»REHR 0 0 0
BAEE RS 3, 366, 000 3, 866, 000 (500, 000)

£ 0MH] B IR A 0 0 0
Adperah (L) 0 0 0
ARG 0 0 0

LEA: ‘l'?fiﬁ’}%‘ iR (RAREMBREEZA) - wtR K] T M



